Sub.: Project Management Consultancy Services for Bhaupur - Khurja Section of Eastern DFC Project - 1

EOI for above consultancy was published on 28.01.2012 and total 25 applications were received in response to EOI. Out of 25 Applications, following Consultants were short listed:-

Dated: 14.11.2013

- 1. SAI Consulting Engineering Pvt. Ltd. of India.
- 2. Mott McDonald Limited. United Kingdom
- 3. M/s. AGUA Y ESTRUCTURAS S.A. (AYESA), Spain in JV with M/s. TRANSURB TECHNIRAIL, Belgian, M/s. Rodic Consultants Pvt. Ltd. India.
- 4. M/s. SYSTRA S.A., France
- 5. URS Infrastructure and Environment UK Ltd. United Kingdom, in consortium with URS Scott Wilson India Pvt. Ltd. India, Wilber Smith Associates Inc. India, DB International GmbH, Germany.
- 6. ITALFERR Group FERRPVIE DELLO STATO ITALIANE (Italy) in consortium with BALAJI RAIL ROAD SYSTEM LIMITED (BARSYL) India, GETINSA Ingenieria S.L. (Spain), Ardanuy Ingenieria S.A. (Spain)

Proposal was received on 02.04.2013 and following consultants submitted their proposal;-

- 1. SYSTRA S.A. in association with SYSTRA MVA consulting India Pvt. Ltd. & Consultants CANARAIL Inc. Canada as Sub consultants
- 2. ITALFERR Group FERRPVIE DELLO STATO ITALIANE (Italy) in consortium with BALAJI RAIL ROAD SYSTEM LIMITED (BARSYL) India, GETINSA Ingenieria S.L. (Spain), Ardanuy Ingenieria S.A. (Spain)
- 3. M/s. AGUA Y ESTRUCTURAS S.A. (AYESA), Spain in JV with M/s. TRANSURB TECHNIRAIL, Belgian, M/s. Rodic Consultants Pvt. Ltd. India.
- 4. SAI Consulting Engineers Pvt. Ltd. India in association with TECNICA Y PROYECTOS S.A.
- 5. Mott MacDonald Ltd. UK in association with Mott MacDonald Pvt. Ltd. India with sub consultant Feedback Infrastructure Pvt. Ltd. India.
- URS Infrastructure and Environment UK Ltd. United Kingdom, in consortium with URS Scott Wilson India Pvt. Ltd. India, Wilber Smith Associates Inc. India, DB International GmbH, Germany.

Technical points assigned to each consultants are as follows:

1. SYSTRA S.A. in association with SYSTRA MVA consulting India Pvt. Ltd. & Consultants CANARAIL Inc. Canada as Sub consultants

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to the assignment	10	10
Adequacy & quality of the proposed methodology and work plan	30	26.67
Key expert qualification and competence for the assignment	60	51.33
Total	100	88.00

2. ITALFERR Group FERRPVIE DELLO STATO ITALIANE (Italy) in consortium with BALAJI RAIL ROAD SYSTEM LIMITED (BARSYL) India, GETINSA Ingenieria S.L. (Spain), Ardanuy Ingenieria S.A. (Spain)

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to the assignment	10	9
Adequacy & quality of the proposed methodology and work plan	30	25
Key expert qualification and competence for the assignment	60	48.08
Total	100	82.08

3. AYESA INGENIERIA Y ARQUITECURA, S.A. in association with TRANSURB TECHRAIL, S.A. Belgium and RODIC Consullants Pvt. Ltd., India

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to the assignment	10	7
Adequacy & quality of the proposed methodology and work plan	30	21.67
Key expert qualification and competence for the assignment	60	44.95
Total	100	73.62

4. SAI Consulting Engineers Pvt. Ltd. India in association with TECNICA Y PROYECTOS S.A.

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to the assignment	10	7
Adequacy & quality of the proposed methodology and work plan	30	26.33
Key expert qualification and competence for the assignment	60	49.53
Total	100	82.86

5. Mott MacDonald Ltd. UK in association with Mott MacDonald Pvt. Ltd. India with sub consultant Feedback Infrastructure Pvt. Ltd. India.

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to	10	7
the assignment		
Adequacy & quality of the proposed	30	26.33
methodology and work plan		
Key expert qualification and competence for the	60	46.03
assignment		
Total	100	79.36

6. URS Infrastructure and Environment UK Ltd. in consortium with URS Scott Wilson India Pvt. Ltd., CDM Smith India and DB International GmbH Taiwan.

Evaluation Criteria	Maximum Marks	Marks Obtained
Specific Experience of the consultant relevant to the assignment	10	10
Adequacy & quality of the proposed methodology and work plan	30	27
Key expert qualification and competence for the assignment	60	48.65
Total	100	85.65

Evaluated Prices of each Consultants

S.No.		Proposals' prices		Proposals' prices	Proposals' prices A		Adjustments	Evaluated price(s)	Conversion to curre	ency of evaluation
	Consultants' Names	Currency	Amounts (1)	(2)	(3) = (1) + (2)	Exchange rate(s) (4)	Proposals' prices (5) = (3)(4)			
1.	SYSTRA S.A. in association with SYSTRA MVA consulting India Pvt.	Euro	8120585	Nil	8120585	72.42	588092765.70			
	Ltd. & Consultants CANARAIL Inc.	USD	2251371	Nil	2251371	55.39	124703439.69			
	Canada	INR	872456209	50000000	922456209	1	922456209.00			
		Total					1635252414.39			
2.		Euro	4230600	Nil	4230600	72.42	306380052.00			
	ITALFERR - BARSYL - GETINSA -	INR	1024680500	Nil	1024680500	1	1024680500.00			
	ARDANUY	Total					1331060552.00			
3.		Euro	909580	Nil	909580	72.42	65871783.60			
	AYESA INGENIERIA Y	INR	1289271842	Nil	1289271842	1	1289271842.00			
with 1 Belgiu	ARQUITECURA, S.A. in association with TRANSURB TECHRAIL, S.A. Belgium and RODIC Consultants Pvt. Ltd., India	Total					1355143625.60			
4.	SAI Consulting Engineers Pvt. Ltd. India in association with TECNICA Y PROYECTOS S.A.	USD	2184200	Nil	2184200	55.39	120982838.00			
		Euro	292500	Nil	292500	72.42	21182850.00			
		INR	667638900	Nil	667638900	1	667638900.00			
		Total					809804588.00			
5.		USD	132859	Nil	132859	55.39	7359060.01			
	Mott MacDonald Ltd. UK in	GBP	217057	Nil	217057	83.64	18154647.48			
	association with Mott MacDonald	INR	933901468	Nil	933901468	1	933901468.00			
	Pvt. Ltd. India with sub consultant Feedback Infrastructure Pvt. Ltd. India.	Total					959415175.49			
6.	URS Infrastructure and Environment	USD	1249448	Nil	1249448	55.39	69206924.72			
	UK Ltd. in consortium with URS	GBP	1370021	Nil	1370021	83.64	114588556.4			
	Scott Wilson India Pvt. Ltd., CDM	Euro	215654	Nil	215654	72.42	15617662.68			
	Smith India and DB International	INR	996548801	Nil	996548801	1	996548801			
	GmbH Taiwan.	Total					1195961945			

Final point ranking of the Consultants;

	Technical Evaluation		Financial Evaluation		Combined Evaluation		
Consultants' names	Technical scores	Weighted scores S(t) × T	Technical rank	Financial scores S(f)	Weighted scores S(f) × F	Scores S(t) T + S(f) F	Rank
SYSTRA S.A. in association with SYSTRA MVA consulting India Pvt. Ltd. & Consultants CANARAIL Inc. Canada	88.00	70.40	I	49.52	9.90	80.30	IV
ITALFERR - BARSYL - GETINSA - ARDANUY	82.08	65.66	IV	60.84	12.17	77.83	VI
AYESA INGENIERIA Y ARQUITECURA, S.A. in association with TRANSURB TECHRAIL, S.A. Belgium and RODIC Consultants Pvt. Ltd., India	73.62	58.90	VI	59.76	11.95	70.85	V
SAI Consulting Engineers Pvt. Ltd. India in association with TECNICA Y PROYECTOS S.A.	82.86	66.29	III	100.00	20.00	86.29	I
Mott MacDonald Ltd. UK in association with Mott MacDonald Pvt. Ltd. India with sub consultant Feedback Infrastructure Pvt. Ltd. India.	79.36	63.49	V	84.41	16.88	80.37	III
URS Infrastructure and Environment UK Ltd. in consortium with URS Scott Wilson India Pvt. Ltd., CDM Smith India and DB International GmbH Taiwan.	85.65	68.52	II	67.71	13.54	82.06	II
Award recommendation	_	name: : SAI C	ical & financial consulting Engi		India in associa	tion with TECNICA	Y

Name of the Winning Consultant, Price, Duration and Summary Scope of the Contract :-

Name: SAI Consulting Engineers Pvt. Ltd. India in association with TECNICA Y PROYECTOS S.A.

Price:

USD	2184200	USD Twenty one lacs eighty four thousand two hundred only
Euro	292500	Euro Two lacs ninety two thousand five hundred only
INR	667638900	INR Sixty six crores seventy six lacs thirty eight thousand nine hundred only

Duration: 72 months

Summary Scope of the Contract: Project Management Consultancy Services for Bhaupur – Khurja Section of Eastern DFC Project – 1

Scopes includes

- 1. Review of preliminary definitive design.
- 2. Contract Management for DB Contracts for CST and System Works.
- 3. Construction Supervision for DB Contracts for CST and System Works.
- 4. Review of documents submitted by DB Contractors.
- 5. Review of Quality Assurance Plan, Contractor Safety Plan, Environmental Management Plan, RAM Plan
- 6. Assist the employer in coordination with different agencies, management of interface, co-ordination with utility authorities.